Introduction to the Theory of Computing 2.
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Exercise-set 1.
Solutions

a) 26° — 26,

b) 71/(2!-31),

¢) (),

d) (5§)25~24~23-22,
o) (1) = (5) - (%),
f) 265 — 255,

i)) ((256)) +(%)

i) Y20 (26) = o
a) 52

b) (33)

a) (360)’

)

c) 14 .

(30",

a) ((2),

b) ((:)%)

) ((}9)). (E))

d) ((859);0(838))

((9).

262524 -23-4°.

6-(5) - 111/(31- (21)3).

() - () 2"

() - (5) - 24,

) ©+@-C)+E -6 =2
266 + () - 267 - 10 + (§) - 26* - 102
(5) - 26% - 10° — 4 - 26 - 10°.

()08 ()0

a), b) The numbers of even and odd subsets are equal (see ex. 19/a).



